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I0-ND "1

NMIT727 XNON
A comment on the 71211 proposed in the last post between the hair length of 7% 111 Y& WX 7125 > 10
715w 1774 and 17745 11 Pw WK 7109 770,

The comment:
“Well now you are just splitting hairs aren’t you?”
(.12 MW wX1) ORI 5w 1hnn DU non ann

This past week the investment in Southwest Airlines didn’t just go south, it went Southwest.

(a1 P1Pw) *0r 12 7257 20 N RN M D PR PN
Two places in NT°11 M2 that the 0”217 paskens like X1 "1 over >0 ":
217127 M M WY 73 PP MWD MOK 71177 1277 R0 IX M2 MPRHa Y 7ay L1
(v™ 712572 P71 0"an7)
("1 7125 2 P9) P 09U P NNnn PNy .2

The 7°X7 that >X71711 "1 was 7°X1 1 is that of the two possible X771 ’7’s listed in 2 TINU P P217°L
the one in >01’ "7's generation (the XN119D 712 of 01’ 1) was X1’ not 714 12 TuHX .

| want to say there were at least 3 °XM71 "’s in 0”Ww:

(2 PR LR MR 1
(:» P2u) PRAM 2
(.72 M7 oW P) AR AT T AR .3

| think the one in >NV was a an XT1NK.
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Horseback rider in spanish: Jinete
Horseback rider in french: Cavalier

Are You What You Ride?

20 PP POAT K KDY KT XDT WK 2 MRI02 WnT PN 12 Man PuT 90 010 bt b a1
(.21p Naw) rn
(.35 0773) 1R 12 MIXPD Nuam Hu 21972 010 X9D 10U .2

However If He Was Riding An Animal This Does Not Apply

PRW 0°7 DU 12U 121 719K W03 20001 WK AT MK TILT 027 AUIX RP v nk L1
(.X°p °1o1D) 1212 1°D 121 X1 22271 PAX 101 XA 2207 K97 XOX TIRK XD .10

19372 72702 DK 077127 1N A0 71"772 P01 PRI A0 11170 121 170 200 20w aw nn. .2
IX AR XOW B XPW TWHX X 2217 1K UM DX 121 XAV 717277 XKW U0 IX 2217 777 OX DIX
(-1 M%7 P13 M2%7n ¥ P19 0"2n7) 70 22 DAY v’ KDY

Puby

The aramaic word for “Rib” is Xu?u:
(.21 °13) maw ]’Ubﬂ 217 T3 777 BN XD X327 0XK
The D1?pP1IX 013N translates the word “ U9¥” in the creation of MM as Xu?u.
(12:2 PwxT2)
(7:1 58°17) 1192 Uy Nom

“And there were three ribs in its mouth”
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The Same Daf in Two XN20n’s And Also 731 77:
MR NAXa 1

(:73 1) (X0 NAW)(.X> XnP)
(.Xn P11 nSe) Pron Twnd 1290 NRX2 11w 01pNR 92 hK 1 nK
(.12 71210 1IAK NRXA 1T " wD) 1272 POIN PRI X 1227 NnRKa 5
2. As Far As The Eye Can See:
(.’ D°MDD D’D1X 12U OX 1" °"W1D) DWN WIPAN 1’2 MK Y12°w 190 W
(:7a M272) O°2K 72U OX

> X703 WI9RTI P27 10 130 TAX T2 RN M T M Mnnany 1in 2o X'
(73 MM22 AU 7772 P31 X502 A10YA 17 0" wNR) 01 AT XU XUOw

7’31’01
Alors (Well in French) i1 "1 is the Dpn %22 0°12770 WX
(:30 M12712)
His XN3190 72 is 01pn 922 Nnnmp:
(. rn)

“You Can Not Force Her”
(.XD °13) WX NX 71912 1K)

(:P PPL) XN 09172 X1 K1Y m¥n 7279 WK m2o>w DIX? 7OX *OX 271 INX XA 127707 K
Alors you might be wondering why | didn’t include the 0’271 DWW in 2 TNU ¥’ 77 MN2.
The reason | didn’t include it is:

(. MA)(.M% 1) 170 Xp X? XNNPoa

M Xp XD X532

“We are not dealing with places where they argue”
(.o rn)
What type of XN219D are we not dealing with?

(:21 °13) 7151 PODT XKIT TPT ALY DX P1OKD 0227 710U PHDT XD 92 1N D
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Is The 1’207 Necessarily Not a X1 p°0D?
(.3 13) P1aNn MPT21TR Pvd O PN P2 X7 NUAY 71910 7137 K

So does this mean it is not a X1 2°00?
Could we say “They were wealthy with answers”?

(.72 1 RPYNT) AN N TPl

P11 ap
(:00 MIND’) P11 2P PW 12 TPHX ' MIwn
7Y 121 X 0N Mmpna b MR 170 3P 1 1R 2w

| want to say that 2pi 12 71°PX °272 X172 1 NIWN is an even smaller measure (i.e. he is mentioned in
fewer places)

(:amn)

The Same Name In The Name Of The Same Name
NN 1> ud

The individuality of my co-worker which one of the only words | ever hear him say is “same”.
(He is m¥P 7772 N1 as we find in 2 71U 1 0°110R)
Why am | picking on my co-worker?
(.7 D’bPW) TIXN 778w 1°2°201
Do | think | am Hashem 0191 or7?
Of course not. Just a Joke.
Also N1 12°u» My Dad of course.
(. 1) nunw 1 own punw M
(:137°13) WY M DWW U M
(.X? P©1) MUK 1 DR TuOK 1
(:7 P21L) XITD T OWN XD M
(:7 X)) X°01N "7 PNRwn X0 "M

(.22 19730) °XP T PRwN XY
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75X " and TUBKR "™
(.0 POI) (.72 1X2) (XD Pra) X 112 DX T DI DIPIXK 12 TR

(.1 P2I)(:23 MM22) WY 12 TUPK 1 01w UK
(:12 MWAWY) XA TUHK " DWwn T 2 bR
(:1° N2W)(:20 PP©°3) X7 WP T TUIK " IAK

(19 PY2)(:X°P MAD°) MUPK 12 12797 TUHK 1A

| want to say that XINiT TUYK 1 and X11AXT TTUPX "1 said a similar idea in the fact that it has to do with
IR PN

(:1> Xnv) (22 1ran)

(:X7 Pw23) UK 1 P8 A vOu PR oK M nK

131’ "7 and °27:

T T MR KID I T2 KITIT R 1P XK XAX PP T0K 101 AP M TPHowK 1 T2 70K 2700 7D
(5P P9M) 277 7mek 2277 TPmBn T PRI RN 2277 AR 27T IR

(.n P NOYY)

D'NRIINNI O'NIN

nar

The MBDOIN in YD1 X177 XIN 27 7177 X TAU 17 N12102 says that there was a 13711 "1 who was a XN,
and he quotes the X1 in the end of X 71U 110 7°11, 7111 N20N, where the X713 brings a XN*°72
with a Y>w of a 13N’ 1. The X711 in 2 710U 72 7773 says about 11X 1371 "1 XX DINW NIX
N7 0’1 1212 so | would like to suggest that this is the same 1317 "1 who was a Xin.

NIYNI1 "IN
(:2 0'Opw) NaILY NYD
(T2 0MT) WR'R N IND (NYID)
(:2'p NAY) WK M2 'T N (N210Y)
Woman like a goose.
(:10 D) KTIX YWD NN (NY1D)
(T N2'AN) 'DOM MWL RTIN 12 DRI DO MNANT XI'N (N210Y)

STV
(.12P '21N) D'XOD 'y'ani DY DIpn" VIR DT MWD (NVD)
(TN M MOWINY) TVIN NN N2AIWN DIVIN XOW (N110Y)
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How Much Is a 721wn Worth?
A 1wn is like money in nounT:

(77 P11 DY) TUNN NPAR 2w n PN Xpw .1
| want to suggest that this is similar to the phrase
(:20p M) PN? 2192 NPT PN Xow
and the DWD is TN X272 TUNA N°2 °192 NYT WD XOWw:
Similarly 702 9257 119 2192 N7 D1uIn Xow

(.72 Pronbery) nawna N Ty 2

2P’ and X2°pu
(.32 7P13) a1 T 10D 5YN X2°pPU " WA Pawdl
(.Prm ’D5W1"I’) a0 AT |71OD’? WIn apw 17 nwd
(:7 r1un) Nn X 11AX APW 13 AKX 00

DU X 7IRIK DWA AWAY TR AKX 97327 021 137127 17 10 0127 DX MwDl Pein PR I 3"
(:1-.7 D9PW) WX 72107 DY X INKIY TTND TRIL KD TN

(.33 7°11) X2°PL "IN AUNWT N2 121 X2 XM

Switching Of The Letters:
(.32 7P11) 21 717 2108 DYK KPPy M wan pawd .1

(.7 P11onbun) a1 1 P109% Wwan apw 1 i)
(0 rrenberr) mow .2

(.IQ'? 11 ’D'?W'I"I’) X>1p 0701 PN X»°1an" 2p7-13p .3

DX D°XIN

| want to say there were at least 3 °X71711 "’s in 0”Ww:

(P P2PU) W R MUR T 4
(- p2PU) XN 5
(.72 M272°nPN ) IR AT T IIAR .6

I think the one in 117 was a an X110X.
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Two sons of XaX 72 X1 "7:
(.Tl ITD‘D) NXIAX 2 XA 772 XKIAX M
(.T'? 1 ’D’?Wﬁ’) XIAX T2 X171 "7 02 0 M

Was it the same XaX 72 X171 "1 who was the father of the two sons?

2170 U»0n Xi1na
(.7P PPL) (N PIM) 170 10N Xid

Halilvf gl
(@QPAIMX 71"7 "IN P M2IN2D) 1712 0 27

He wanted to allow the 0’3712 to become XnW for ON 11°27’s 1.
(12 P13 05U P) (19 M2 P nSe) 0r AN PR
(51POWVIX 112 MAIN2) 172 Twn

Artscroll note 8 they say it is cited by 1”7. This is what he says, :”"Nowadays, when no one eats terumah in
any event, the privelage of reading first can be given to whoever claims to be a Kohen even if he cannot
prove it.

A 71111 Vort

If the learning is difficult, because of NUT7 M1, due to a 7NN that seems to be smiling after
upshlugging you (X 714 1"°p X031 X21), here is a vort of 7171

Remember that your toil and suffering for the 771N is not unnoticed by Hashem.
(:7° 73°3m) PTONY M 7oA AP INIX 21127 5U N P XX 2
(:1'7 1 ’DI?W"I‘P) MU PTX TIX (277K 127K 7IAX 7T W X3 AT 51 17K 0’20 DX 127 KXW
Keep learning. Know that your toil and suffering for the sake of learning 771N is dear in Hashem'’s eyes.
(mom Pl 7173) 121 D*vawnRM D°Prm NN an

(v ©°>7N) °ND >IN MK T NTY
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(.71 N2W) 121 DDNNIM X710

The yIX71 DU says you haven’t been 77717 a raven yet so what are you good for. Don’t let that discourage
you.

The 71N gives you wisdom to perform impossible feats of wisdom.
Impossible Feats:

0’71272 1119972 XOX 1K NN POX 1IN D102 12°R% 19 WK XY PKIN D2 XN 12 A0 1 0K 990
(.72 L)

Of Wisdom:
(.Xnrn ’DbWT]’) 0NN 1Y
(-3 P2PY) PIWn DX 0N
And Davening also helps:
(.72 TR TWIA) I XNT T NN DR XD XTI 127 NN XY NP °Xul "0 NP0 230 X371 K
Now the X173 in 719’31 seemed to make some sort of a P12’

2177 TAXN PNXYNAT DU TAXN DX PNXYA1 P NUP X2 7aXN DX *NXYA X921 NUP 07X 72 70X OX PRy 10K
XOTP30pIXD DAX *TI2 XPX TIRX XD 71710 *72791 X0nW 10 X1 XNU»0 [Nn1 Xwna DaX 770 *1272°9°0
(21 712°30) X°1 XY R XNU»0

The 771N gives you wisdom.
And Davening also helps:
You see that X271 learned and he davened, and he became very sharp.
(.11 P2IM) 1°3°00 XN
He, and Xnr 72 °n7 sharpened each other:

0’701 P TNRYN W AX 1720 DX TN T AT 2200 ‘|5 717 7 51122 5112 22027 °XR X3 2272 KXo UK
(.1 °3uN) 72972 AT DX AT PTINN

TT T 2702 X032 0T XTOM T PRRR R 11 D XN 12 0T X277 KD 231U KT 0702 X P
(:12-.192 1210) X1202 °17UN
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“Sharp” and “X27"”:

Xp 77702 719 K1 XP1PTT X1OK X1P207 1280 Xp M X277 7PRp XK M 50”17 772 PR 1 nK
(:M2 71¥°2) 12 P PRI 1297 1201 AU Xp ATIART PNUTR M PIPINAY aun? X 0 7au

(:r ]”717’[) 1202 M7 '3 X327 X
(Joparu) w1 °m 73271 X2TX X327 X

Sharp Halachik concepts from X271 and the 1272w X which was P2X 72 X1 "7 (h 2 TnY X°p NAw):
(.7 7°13) MWW 51 X211 NP1 XONX T3 0K M INWKY YUY X237 T0KT X 7D XOX

(:72 ©°771) 1R NN 12 TN PR 2100 X271 PAX 72 X1 PR Xud

7’11’01
A 1’0 to remember words that are slightly different in >2%u17, and their meanings.
A"iwtan"x
(.3 P11 W) N NP
The corresponding phrase in *222 starts with a “N”:

(:21 °11) LN XN

(:72 i) o°ran ra

The corresponding phrase in *n?u17 starts with a “v”.
(.02 PR NS vHhw
(.X317°13 nhu 0 o) 0"

The *522 word for this greek letter is basically the same just they add an X in the middle(X Ty 71 P21°U
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Either way the letter is shaped like the hebrew letter
Iljll

7" w"2 0K PIo)
QXTI O°KIN

MaANX 72 XIX "M

The MO in(: 24U 2w O A77) PYITR says that XX 1 was 0°72° XN (lived very long) then he brings
the "1 who says that there were two 77127X 172 XX "7's.

Why is the >”71 so sure that there were two 11211X 72 XX "71's? What is wrong with the first b5 in MDOIN
as the X703 says in 2 MU 2 77 N°3UN that he lived very long.

| want to say the basic answer is that if the 727X 72 X7X "1 who lived in the times of X271 was the same
as the one in the times of PX1n1 27 then he would not be considered a 715N of X27.

| think this X771 in 7°11 is another 7°X7 to the *”1.
(:11P11) X117 0 XU D 07K XD 30K 12 XX T I 0910

It implies that 71271X 72 XX "1 died in the lifetime of X177 "7, whereas the X701 in X T4 12 77 X701 X212
implies that he died in the times of Pri¥> 72 111 "7 and X217, so this might be a X7 to the *"1.

Did X217 ever see X177 '7?

X177 XD PP PR K KT T T X000 00 2100 0 1P XD XD 12 01979 X271 7°D K
(:2 N°1uN) X177 PN1°03

(.72 7R TWIA) I XNT T NN 513K XD X9 127 NN XN NP °Xu3l 57 15N °37 X271 10K
He could have known about his 111217 without having seen him.
(.33 7°11) X2°PU "N AUNWT N2 101 XTI XM

Just like he never saw X2°pu 7, yet he learned from him.

The son of X wn .
(.M PAPL) 717722 RwIwn D Nk

What was the son’s name?

Could it have been x27?
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(:n 11) X271% RN 72 X270 X
There was a X’WwIwn 17 1172 PriX’ 1 in the times of WX ":
(7P 1P2)

Also a XN 12 XNo:

(P P2In)
“To Be or Not To Be,

5'mn or 7. That is the question.”

(based on shakespeare’s hamlet (oy how low have we fallen here in the Daf Yomi Insights, that we are
quoting Shakespeare hoy....))

1PN XA N2 210 AwL 91 1°2 271270 YL KA 172 21270 Mwad A 990 0220 11050 ohuh XN
(21 P2PL) 927 @A 9001 X 1IN 1PRU A" A w3 ninn w99 0

Here are 3 places in 0" where we had both a X111 of 27 and a X011 of PXNW:
(7 p2r) o 5K TPIM 277 7P YU 0T AuTIma M DIpu N X .1
This was in the X3 nX M.

(.12 P©°1) °% X728 >IN °20 PO MoK .2
(232 P2IM) 71D K191 PRINYT XIAIM 277 XA PO KPR X2 RXK .3

“A 7191 this way and a 721p that way”

D°9°2XK OX 1127 71190 XD 2NN 0 XTI KD 227 7192 0K P2 I WA 129K PTRPN 19 1800 201 22
(.19-29 P11 nPY ) DNXAYI N 0°P7aK ONX PR OX1 P2 OnPNw w2 0N2aX 7Rk OnX

“A 7121 over here and a 11?1 over there” (A 1919 of 11 or PX1NY)
X P30T PIIX’ 12 7M1 27 1K W DRIAY TOX 27 71K FIUTII2 0K PXINY W 27 77K 27722
(.1 M2IN2) TARUY PPN IPKI TAXUD PPN
Avoiding’s of 0"w
Some D°71?N who avoided 1311 "
(:XU PRATP) 121°0712 2201 7D K AT 0 T PR wnnwn Xp i

(.1 2°%PWw) mPrpn P9 LR YD AN WDKK 227 P XAX 72 X1 1 OKY 21K Paon i e
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A X’ that avoided 13m0 :
(:XU PYATR) 1R NPI0D IXWLUW T 9227 XU 728 X2 TUIK 1 INKT KT PNRNYK
Some 0°7°n?N who avoided 77177 /1:

210 °"KD 9237 AU 92 AT 1 IAKT DXOEPT XUIKD PO R *UaT AN 2770 WRNYR X M X
(.Xn MIW) PP AN 1KY 71933 INKIw Owua

(:72 M272) a1 AN 27T PPN RN XP M0 XX °27
They couldn’t avoid one out of two:
(.19 11 n%un) 122 AW KD NN R XTI XD 2T 1P K
One out of the three couldn’t avoid him:
(.11 Mn2’) a1 u"a12 WD 0°NoD wOw IR 1XYW
He avoided all 3:
N KXW DN DRI DX O AN K1Y NPN7 0P 0P K MU oA NI °D 191 YK °11

(.27p M)

"Don’t Tell Him”

| think it could possibly be so that one might have a wonderful, or brilliant Ww® in a X773, a 77°N0 or
what have you, and it might be so so good. It might be absolutely brilliant, however if you tell it to an Ou
77X, his reaction might discourage you, and leave you uninspired. For example he might totally ignore
the point, and tell you that your’ black coat makes you look like a wierdo, and point out that the Rabbi’s
never permitted Raven meat, so what is the point of your’ learning?.

This might give you NuT71 M2 and your learning might become affected.

Therefore, | think it is important to remember the next time you have the urge to say to an yIXi1 OU the
wonderful Vo that you heard;

“Don’t Say It.”

(.12 P11 onbun) M9 1 XN XD XX 72 2P 22717 PRI 027 K
(:0X MMIA)(.LA 0*173) PR DU °392 171X TIOK 717 12T

(.0%pP NaWw) 1IN 232 1KY °RD AP oW

(:2° N2W) 12 P PRI 1207

(.XYU PYITR) 2°N2 02U K20 X177 77D 0K

(.TX N2W) NIX 719231 ANX N0 AN

ok wWiN PR
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Mop 1P XOW 72 *A1N0 712 0°N0N Xp XIN X271 77° X Xp°02 PwIPnY 120 XIPH 1A X 7
(:30 0°773) XPPR2 D NWIT NN 07T WX
(:10Nn TD) XKIX XPKT .8

“Don’t say it.”

(.10 TP TWA) WA D TPRYND N KW AT .9
TU X D22 XIAW 17PN 127 TAIKD 1710 1127 X010 T TPAwn XP0n 1T 71712 12 X0 1 nK .10
(7 XnP) XKD TN PR POX T 12T KT MK 912 INK0w

"Just Don’t say it.”

TAXIY D POU 12720 AN T KT 0OX1 012 070N NUWA 1D POINT DU K 1P P00 111
NN 1797 T MWUS DU XKW 012 PRU 12720 AMNA PRY T 0P OX1 0 0131 1en w2
(.30 M)

WA 112 MY 7N XY 7192 IN0TIX D112 197K PN OU °197 MNA po1u DI X1 a0 XN .12
(:on D°MOB) AWNIXA XOX NN 1PN DX AwIN

It is rumored that the 1910 0N said to his D 1NYN “If you say something | said in your own
name, it is ok. Just please don’t say something in my name which | didn’t say.”

(The good thing about this statement is whoever actually said it (if not the 7910 0NM) would not
mind it being said D21 someone else, so there is no room for error here)

Based on this introduction | would like to present two places in 0" where we find the
expression of My .... I 770 :

“If you say something | said in your own name,
PRWN % NN K21 XMDI 720 20 NUAY 72 AKX M2 Ttk a0 pm T L1
(:r12 MIN2)(:71 Man)
Just please don’t say something in my name which I didn’t say.”

AR TPEXAWN 710 7272 727 PP XAX 027 21K pw MM K X100 227 M X 2
NIAW PXXINA XOX TINT 28 P27 PX I 2277 RN INPIAKT XTI XDIU? XIX °27 7170
J21 D12 730 72 712 1272 772 X X9 770 X 107073 D0 R

J01710 X ReXa 1AM M 0w NINK DX T192 N1DUT 0°192 12 Y2N0: "W
’2°70 %P1 ] NN X 129 KPAXK N0 IKD 0K 1AM T PN X277 7°0R 120 MK .3

JPXRY 0727 170 0°pP7 072 :°P>10 P12 "7 "D
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Someone quoted the 71910 ON1 as having asked the following question:
If only 3,000 sinned in the 277171 231 why were so many killed in the 712°27?

He said the 71210 0N said the reason so many were killed was because they should have
protested. | want to point out that the 7210 0N seems to be ignoring the >’ in WM

TIXTN XD 077U DA T A0 L DUA DX T 31 "7 MNWw 100 ¢ b ?109 Bl ?79

Without this | would have asked that you see they killed 11 for having protested, and |
have a X7 that If it is not a P20 if they will not be 2271 or not, meaning if you know for
sure that they will not be 920 there is no M¥”n to protest.

This is my 7°X7:
It is a MDOIN Y1710 in X TNY 711 77 NAW:
J'uUX "I

DY M7 °Papn XD ORTT X2 DA 123 °0 0107 N0 KT *Papn PX PRoT X 1371
(.71"0 'OMN)(.713 NAY) PTIA P DX AN PY 200

Now MBOIN in NAW says it is like 715’2 01 N2OIN. So this is something which is XN»7IXT
but not explicit in the 7N and so maybe if it is something which is explicit in the 771N
he would agree that you don’t say 711 17 DX Q210w 17w 20I0?

| want to point out that MD01N said the reason why the 0°P*7X of the generation of the
destruction of the w1pni N°2 were held accountable was because 121 °n 0?7195,
meaning that if it was D71°199 121 wnn, so they wouldn’t have been held accountable,
but certainly there were XN>71X7 M7°24 that were going on in those times. This was in
the times of DX’ which was in the times of the WX 1’3, and the X111 says

J21 0°T MO N1 1PN 1012 PR 0°7127 30197 2770 110 %180 XA wIen
(:1 XnP)
Just please don’t say something in my name which I didn’t say.”
Famous Misquotes of 0”w:

72 A3 71K 1272 P 90w 1PDU P2 MIPpRw e Mk N2 A Pty 1
(:1% M272) N2 12 PrR*1a 12 PNWARS XO1W UaAp privy

737 712 72 72T PP XAX 221 DR Ry MM 2K XOnn 2201 i XD .2
DU 272N PX MY 2277 TPAwR 1INKT KT XDIUY XX 227 77D 0K 1POXNen
7117 72 72 71272 72 XX 170 X7 10772 09I 92K N2Aw KRN XOX IR
J21 Mura

J21710 X X5 X 1AM " oW1 NN DX Tm170 MDY 0°192 12 oN03 " wID
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P12 71721900 X9 129 K1PAX N IKD AKX 7R T PRwn X277 PR 327 MRk .3
gridle!

JPXRY 0727 mialpe 0°pP7 072 :°P>10 P12 "7 "D

(.12 P13 onbun) 1 0P XINX TPINTUR 4

What Goes Around Comes Around:

(:L NLID NIwnN) NaILY NV
Q) aP))

Alors X117 ' turned his face from X171 ’7:

XTI XNX 2D PR IR00 7 XPwa DK X 91T DTXT XA 2772 X0 279 X701 D manwn
XD D DI XPT I DK P10 PEXRD 1APTTIX X101 XD DK X710 NOPTD KD XUV XN D"K X710 019
(:102 PYNTPR) NA0IT U

Alors 01’ "1 turned his face from X117 "7
(.7u ]’51!1) 21 1POXRD A0 "APTTAX PNNA0I IRNAK (I XN 7 X

SXINY X X177 27 779 K WIRID PIK 27 10K 70 [REPR X TRP 001 X3 T PRp Ao ' e
(.X° 71210) 121 7PAXY A0 AP 0K

So 113711 12 °0P 1 was 7’11 on something that X1 "1 said:
(.M P1PY) 101 73730 200 M ou J°nn 1|7’OEJH’? 5172 5w 1N P DAY RINN PAW 00 X1 01N
S0 11712X "7 was 112 7732 on something from 7111171 "2 °07 :

D’ 1iPMUn °191 0°N Prawvn rav TRO7 I 72700 1 K DMoTY YU 0o & mun plifiagais)li7ei
(:20 P2W) 12117AX 12 AT
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Alors 27 was 1”2 on a XN”12:
(:2p N2W) 71N22 1IN0 OX1 12772 P31 IMD NPT P NINKY 73 XID
So »2X was 1”*2 on something of 27:
(:2° JUP TINA) 2K 728 17 VY NP XX I IPKY D"UX TN DPT 0K PYIR 27 K PRI0 27 0K
| want to bring in this M201N0 explaining all these terms:

3P "1 7270 (23 PITI0) MAK M 712 A7 100 MWD 0910 70 XTINK D21 XK XITW 0N 11727 01K KoK
(:2 MIN2 °XAX "1 VWA 717 MDOIN) (.2 MIT2) »IX 7178 VP27 P"2)

(:T0 MN2?) W70 1722 P3N PP XY XD 17792 1KPN 21027 A 1 InKT IR X I 1 K
(.1 PW23) WATAN 1722 PRI P XY KD 0T AT PIRD M PIR AT N nKT IXD K A0 110K
(mad)

(.2 P21Pu) DPNW K 210 PRYY 72 AN N IRK 102

(:77 1°274) °1°’02 °XpP I AN APwT A0 1 INK 101 Pk’ 72 1R N

I’'m not sure this next one belongs here:
Well 1° 72701 1 holds like someone in one thing and he argues on him in another thing:
(.7 pare)
Someone holds like TM77” 72 °07° "7 in one thing and argues with him in another thing:
(:r PoIm)
Well who let that one in?

(:107 °13)....121 IXI? PR TR 101D’ DX 02D *NAK T2 XD 19 0K AT T 0UD

Ford Stock

There was a dip this past week, also there was a news article about a car ad of theirs imagining what cars
would be like without women.

... KW XD 'D wanw 1172 NN X’ °Nn DIX? 71OxN "Ipn WY Mw 'Oy XU 127 KID 191 X297 X
(:2 PYNTR) PMAYY DN TR



n”a

"I qT

DREF B0 INSIESTS

The 7V brings this X711 in X 12°0 7471 12X and the w77 writes :

M D2IRT 92" 71PN 172°0 1MIXA PR ML NPIUNT 2"02 w2 priTa P Pmngy upl ind ouv v v
MO 13°IAXT DMAKY VPRI 27127 1"17 OW 2021 DMAXY P8 0MNY °7m 101X 21027 P98 112 P*08nw Muoa
PPN 12 WY N2 IP°UW URWR POIWA PRINXL XTI P10 PRIAXY 1A PRI PRINAXY 1 P Amwn 7T 3D
N2 "2 DIXGT 112 XITW U5 N0 XKW X AWK XD 817PKE 0 2"05"™ 13 PRnKua DX K
DX DU NXT WX PXX 2°N27 Dwn 2™ PONKY 7Inon 1272 PNKLA 1219 7 XOw X7 Mnipn

(1 MIX 7IP7T) TR T2 0 PRINRKY 7NN 7"R0 K 20 19w DXUA P2 AKX AKX RXun

If the 7”77 himself didn’t say this might be a P17 etc...
| want to suggest based on the X711 in P’©°)

D0 M1 X712 720K 20177 22w 030 270K 10°P 2 1R 01p 0 0K a0 P8 Xpnoen PNX PR
TN TWVEN X? 779 1K KT XN K P XD TR XDOwnk Xua 91 XD XPINK? XNR70nD XU 210N T
TR PO PP TNUT XANPn XOT WPPK IPD NI KR XOK DX [N 720 TN 22027 72 XN 1210

(213 P°3) 94 7271 72U 073 W2 K23 M 22007

Now Artscroll translates N7 Xan°n X7 as “that you dislike”. | would like to suggest the literal definition
to be “that leaves your mind unsettled.” This might be the case with a wife because of the worries of
needing to support a wife and children that comes along with the wife, especially in those days when
women didn’t make as much money. As 3777 1 said 71N P10W1 1IXKIX P8 0710

(:02 PUTR)

Therefore if a man doesn’t take a wife by age 20 his bones will swell because his learning will be without
710171977 NIXT. So he will recieve M1 MNY from his learning. His bones will swell from the w171
1710, Why is this bad? | want to say that a 1" needs to be humbled. He might become

(.2 P3uN) 71277 0 TR 217 1PHU 103 INUT
Now X171 "7 in Y17 there said about someone who doesn’t take a wife 77721 772 PR P2,

| want to point out that even according to the 112”77 you see that X271 is not saying the swelling of the
bones is connected to 772U M. | want to suggest that if it was connected to 177°2U M7 the effect
would be a rotting of the bones, as opposed to a swelling of the bones. As we see in 7’11 PS>

(.D’? P11 NowT) AXIP MNXY 2P X792 72 °1N7T X772 mnyu? P w
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A P11 Vort

Perhaps you are scared because the 171N is so vast in its breadth and in its depth. Perhaps you feel
overwhelmed, and you feel like a tiny speck of dust looking out at the great vast universe of the 77N
which you need to learn, and you are afraid to move forward.

Here is a vort to give you P11°17.
Remember of the Bravery Between The Two Mountains:
(.12 rrnhu)
(1" Mn2)
(:1 777 7Maw)
And remember The bravery in the Sea and In the Air:
(.73 P211PY) INX 7205 T ANX X0 0°Y 72un OX) TPINX MYu’? X TNX X0 0°NY21 OXY
Finishing Mnw 120 and finishing 7°11 NJon:
PIMNN I PN
As opposed to DIPW X X291 XX
(> 7van)
27 INX WX 12 X1 27 K
You should go 9’11 59X 9 1rn:
(.70 M)
Artscroll translates “From strength to strength”
What kind of Strength?
X710 277 7N
Jerusalem Talmud Nazir 3:7:2

His strength is from the 0’2109 and from the N1°1wn and from the M”71, and from the X nNJ's.
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oY

The word D»w means Hello and it means Goodbye. You should have 017w weather you are coming or
going.

WD T IAK OXIN D17 172 PR W XN 13272 71297 1270 0K XEPY P2 27 0K 0P PR X291 XY
(2 73m) "D 0"WNR 12°EX X I N Iwn? Tnonn

Based on this X711 | want to present these in a specific order.
The nSU17 writes:
XN
(.19 1 NPYT) FINIP MNXY 2P
;71291
(.% P217°L) NINX W0 12 I'l1|?Wﬂ'? WO NN PR X210 (X072 )\ mwn)
(.% P217°U) NINX VIO N2 I'HPWH'? TPWI NN AKX PR 121K

TAMI 2772 77D 17K INK PR 12 KX 271712 3 1A T XX 29ap 177 X D10R 1730 (0" wn 19°ax) °Haa
NAT P27 > TNU 210 27 K IRDT DK PR T2 KK KIX 9 10K 01 1XR TP TR RDK XT2372 70

X2 NOAR IPKT PP AKX TPAWIYIRT P 10U 21w 2202 XIP KM DK D X1 X970 101 9K XU
PX 1292 AXIP 10 PRY 92 02200 PMnKL 1292 AKIP 19 WP n D2 AXKIP MINKY 2P 22027 25w 7pK
12PDXT UK 1193 7P K X227 7PNI0 0 D10 1D K KWW 7 1PKT AT P 022200 PRINKY
X177 9"X 21wN 194 DX ANX 191 °2 2N 'K 02°MI3p DX °1ND2 72X 22 DNUTY 2°N27 DR K2 X0
(:21p NAw) D°NnA DPIN 0P AKX Uw

(.12 P11 APENT) TIXIP MNXY 2P X119 127107 X702 ¢ (0"wD) nhen

DY PX X291 KX

| give you a 11272 that you should have 19¥i1 in your learning. That you should learn things in the
proper order. You should have 11m>¥1 in your learning both in your coming and in your going.

(1:712 0°7127) XY FNX 31 TN ANX P2 XPR
(MoB 5w 7173) TR XY : X072\ mwn
(:21 1) LNW XN : 0"WnN 12°OX

(.3 P13 °05UN) *nn XX : 0D
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A quote from many posts ago:
0°771 D2on '|'?SJ IRkl
Ending a N20N a la foi beginning a NJonN
The beginning and the end.
The first and the last.
The first is in the end.
The last is in the beginning.
The N1NX MW is in the beginning of the NJon:
(.2 mean)

The NWX1 MmN is at the end of the Ndon:

"(:x 07T)
End Quote
A quote from a few posts ago:

“Should | learn *n%u17?

271°19% 7N 7197 92 10T KRR P7192 111K 120°70 DaK T onw? 92720 KW AT TNK 21 X10I7
0914 71272 12’0 AR IPK TN

(727 771 3T AT "o L1 PaL)

The mbwin! often has different XO1'A’s than the 'Y11.”
End Quote

Here are two NINJ0N in 0" where the 217 has a different X071 in the First 71wn in the last p1o:
(M2 n2e) M1 21T 3w

(1) mrn o> X 0”10
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In the end of 7’13 N20ON the X1 brings that when it comes to answering 11X to a 11272 both *XM71 M
and >0V "1 agree that it is better to answer X than to say the 7272. Other than the fact that these are
the same names who argued in the 13wn about weather NN X1 was a 7’11 or not could there be
any other reason why the X711 brings this here?

Perhaps it is like the X n1 says in P11 7pR:

D°11 OPXY 17T NX 17 0’2 D°W8I 0K 70w 97031 Peoiuw TN 2777 13121 2K 127DX KIX 72 X771 K
(:5 PY1TR) D101 XOX 112102 PN DX 7IDI02 271 NX XY 71T DX T 022K DPWEIw TU 0wn

Perhaps the X771 brings this discussion about making a 11272 in order to show that although these two
D°XIN argued, they were 117 NX 117 02X D°WUl. They agreed. If in fact >X71711 ' was 7°Xn "1 than we
already saw this before, this love that they had for each other:

(37m3) niwikvaishiatnlis PN 0P DUD AN 12W RN 1TINIK° °0P 1 NI

=11 N2DN TPu 1770
The NJon Starts with” 0*7” and it ends with 0’2171

(1211275 o°H1)

Perhaps the 0°23 0’7 in a certain sense represent the outline of the entire M1 of a person and so it
represents the entire 711 of a person. As we see in 2174

PRI P IWDY T AR MAK WY 1013 PRAN 77221 POND PN WK 12w X107 XN X0 NINK 701
(.M P217PY) PRA 0737

Now we said in the first X101, we said *Xp XIpX Xin:

PP APIPOPA AWVI0 TIXITT P2 KPP TPAUY 12 07300 P 27 MY 712 KX 0D PRUA 0 XYRN XD OXK P
(.2711) PP I Ry

Now the 7121792 1110 is connected with physical 777724, What brings this about? Wine. So the 7’11 vows
abstention from wine when he sees the 1?1p%p2 w10,

Well according to the n’w of 1°Xn 1 the NUTA YU >0 was the 191 and the reason is:
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(.73 M12712) W P TR DY) TAKIY 17 XX DTXT DU 199 X0anw 127 0 PRY
As a result of the First X117 the w1 was punished:
(723 W) WP P 02037 N 3 P AT e
Now we know that wine impairs man’s ability to make a judgement.
(.12 P13) 7P 5K PP W inw

If someone drinks wine and passes judgements he might not be able to find his hands and his legs in the
wTna N1,

(. P (:Tu M)

| want to say that this abstract idea, that might seem yet vague as of this point, becomes clearer with the
following X7n1:

1AX DX P¥15NA X171 2172 OX M3 X177 72X OX w1770 1729 170w 717 9130 72 330 OX PXUAR? °27 7127 XIN
WX 127 112 X9 2°N27 YXIDNA X 9112 OX 0°7 1PNw 021K 2021 DA% 127 XY 92 017 22027 Ml K
(:21 7210) UHO P¥ID’ ¥ WD T OXI

(.7P NAW) *Xp X2 XIPPw °Xp XOWR 717129 1227 NNXOXP 070 XINX XIP°w 10"

PYIN 9221 1P 71T 7701 Wp2 MKRN? U YN 221 7101 wp2 MKND 2’027 KN pRYe M XK X2 W
(:32 °11) ©D1L MK TNOKT PIOX A1 178 130T ME177 N2 N1P0ID *NA2 WP m23NIw U2’

Is it really only in the M7 >N21 N1°0ID °NA that his YR was 12303?
W N mown
Sober up.

Then, when you are in the w1771 "2, removed from the judgement impairers that exist out there in the
world, learning up M°11 M%7, it is there that you will find your hands and your legs. It is there that you
will realize the purpose of creation. To serve Hashem. It is there that you will be able to see and think
clearly. That the 711 from the top of the outstretched hands all the way to the bottom of the toes, should
be used as a vessel to serve Hashem.

As the 109 says

(21 71272) 15 b i
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